IDED BELOW.
THE ANSWERS

ANSWERS : y FOLLOW EACH

QUESTION.

1\



QUESTION 1
.1 Solve for x:

1:l:1 x'=x=20=0

11,2 2x* =11x+7=0 (correct to TWO decimal places)

Sx“+4>2lx

27 -6.2" =16



QUESTION/TRAAG 1
111 | (x+4Xx=35) K% factors/faktore
X 4 orx=3 f;ll]ﬂ\'fh antwoorde
(2) |
llx+7=0
bt+b" —4dac v substitution mto correct
2a tormula/substitusie 1n

—(-11)4 1.,-"{_ 117 —a(2X7) korrekte formule

2(2) v'4.77
= 4,77 or 073 v'0.73
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Solunon

i

v standard form
standaardvorm
v factors/fakrore

v I-.'In.:lt'rlh_.l"r':ﬁdu.r'q.'

v no solution to

geen oplossing

= 1 -5

v 2T =23

v answer/ anm
(4) |







vy the subject

4/1&' (H,'(/g’l'\% g'l]'

v substimution ' substitusie

v siumplification/vereeny

v tactors/ faktore
v x-values waardes
‘/'\ -values waardes
(D)




- [
. , : . : -5+v20+8%
[he roots of a quadratic equation are given by x=— : —
)

N
y Jf o

Write down TWO values of k for which the roots will be rational.

Write down ONE value of & tor which the roots will be non-real.

|

Calculate @ and b 1f \ > :(1(7") and a 15 not a multiple of 7.




¥ ¥ JIISWeT anii




v 2T

OR/OF

.
vYag =

v b = 1006




